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1. – 20. sorularda, cümlede boş bırakılan yerlere 
uygun düşen kelime ya da ifadeyi bulunuz. 

 
1. Although many countries have taken ---- to 

improve energy efficiency, global energy 
intensity has worsened for the past three 
years. 

 

A) desires 
B) hostilities 
C) measures 
D) influences 
E) conclusions 
 
 

2. Exposure to lead is known to cause many ---- 
health effects, changing from behavioural 
problems to learning disabilities. 
 
A) mutual 
B) harmful  
C) modest 
D) intelligent 
E) responsible 
 
 

3. Studies have shown that people who carry 
excess fat on their waist or belly area are 
more likely to ---- heart diseases. 
 
A) improve 
B) release 
C) occur 
D) penetrate 
E) develop 
 
 

4. It is strange but true that cell death is ---- 
necessary for any living thing to develop, 
grow, and survive.  
 
A) remotely 
B) absolutely 
C) effectively 
D) indecisively 
E) reluctantly 
 
 

5. In its current form, karate is less than 200 
years old; however, it has roots that ---- 
back thousands of years.  
 
A) take 
B) rely 
C) date 
D) raise 
E) deny 

6. We all know the proverb "An apple a day ---- 
the doctor ----," but equally an orange could 
be recommended.  
 
A) puts / out 
B) belongs / to 
C) makes / out 
D) copes / with 
E) keeps / away 
 
 
 

7. If you fear snakes, it may be because you 
are not familiar ---- them or you have wrong 
information ---- them. 
 
A) to / over 
B) by / at 
C) from / on 
D) with / about 
E) into / with 

 
 
 

8. Lingua franca is a language ---- as a means 
of communication among those ---- each 
other’s language. 
 
A) used / not speaking 
B) to be used / not spoken 
C) using / not being spoken 
D) being used / not to speak 
E) having used / not spoken 
 
 
 

9. Despite the fact that astronomers ---- of 
thousands of planets orbiting other stars, 
they ---- only a handful of them so far. 

 
A) might know / should be imaged 
B) knew / must have been imaging   
C) had known / would have imaged 
D) know / have been able to image 
E) have known / managed to image 
 
 

10. Many historians ---- that the first Indians ---- 
to the American continent from Asia over 
20,000 years ago. 
 
A) assume / came 
B) are assuming / have come 
C) had assumed / were coming 
D) are assumed / used to come 
E) would be assumed / had come  

  2 
 



 

11. Initially scientists regarded the periodic 
table of elements as a curiosity; ----, it later 
became a useful tool. 
 
A) for example 
B) unlike 
C) however 
D) thus 
E) despite 
 
 

12. A deaf person can’t hear the caller; ----, he 
or she is unable to communicate by 
telephone.  
 
A) because of 
B) moreover 
C) however 
D) in addition to 
E) therefore 

 
 
13. ---- we plan for our spouse or children in the 

event of our death, we should also do the 
same for our animal companions. 
 
A) As if 
B) In spite of 
C) Unless 
D) In case of 
E) Just as 
 
 

14. ---- some people have a talent for science 
and mathematics, others are good at art and 
music. 
 
A) Unless 
B) In case 
C) So that 
D) While 
E) Even if 
 
 

15. ---- there are many great health benefits of 
eating dark chocolate, there are also some 
harms.  
 
A) As long as 
B) Despite 
C) Thanks to 
D) Although 
E) Because 
 
 

16. ---- eaten in excess, the greater fibre content 
of oranges can cause problems like 
stomach pain and diarrhoea. 
 
A) As if 
B) Since 
C) When 
D) Unless 
E) The more 
 
 

17. Being a celebrity such as a famous film star 
or sport personality brings problems ---- 
benefits. 

 
A) in terms of 
B) as well as 
C) on account of 
D) as a means of 
E) in agreement with 
 
 

18. Infertility is a condition of the reproductive 
system ---- prevents the conception of 
children. 
 
A) what 
B) whose 
C) that 
D) whom 
E) in which 
 
 

19. Studies have revealed that you are ---- likely 
to remember your dreams if you wake up 
naturally ---- with an alarm. 
 
A) too / as 
B) so / that 
C) as much / as  
D) more / than 
E) the same / as 

 
 

20. On average, teens actually spend 70% of 
their time with peers and the media, making 
---- the role models rather than ---- parents. 
 
A) it / theirs 
B) its / them 
C) itself / its own 
D) them / their own 
E) themselves / their 
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21. – 25. sorularda, aşağıdaki parçada numaralanmış 
yerlere uygun düşen sözcük ya da ifadeyi bulunuz. 
 
Rabbits are usually known (21) ---- clean animals. 
Also, for the most part, there are very few health 
risks involved with sharing our lives with them.   
(22) ----, some people may experience problems, so 
it is always wise to know (23) ---- signs to look for 
and steps to take to prevent possible problems. It 
should be emphasised that health problems from 
people (24) ---- a disease from rabbits are very rare, 
so we needn't worry much (25) ---- getting sick after 
contact with them. 
 
 
21.  

A) to be 
B) as to be 
C) to being 
D) by being 
E) having been 
 

22.  
A) Therefore 
B) Otherwise 
C) As a result 
D) Nevertheless 
E) On the contrary 
 

23.  
A) what 
B) whose 
C) whom 
D) how much 
E) the fact that 
 

24.  
A) reverting 
B) contracting 
C) dispersing 
D) terminating 
E) compensating 
 

25.  
A) at 
B) from 
C) about 
D) beyond 
E) along 

 
 
 

26. – 30. sorularda, aşağıdaki parçada numaralanmış 
yerlere uygun düşen sözcük ya da ifadeyi bulunuz. 
 
Halloween seems (26) ---- its beginnings in an 
ancient, pre-Christian Celtic festival of the dead.  
The Celtic peoples, (27) ---- were once found all 
over Europe, divided the year by four major 
holidays. According to their calendar, the year began 
on a day (28) ---- to November 1st on our present 
calendar. The date marked the beginning (29) ---- 
winter. Due to the fact that they were rural people, it 
was a time when cattle and sheep and all livestock 
(30) ---- for the winter months. Crops were harvested 
and stored. Thus, the date marked both an ending 
and a beginning in an eternal cycle. 

 
 

26.  
A) to have had 
B) having had 
C) to having 
D) having  
E) to be having 

 
27.  

A) that  
B) who 
C) what 
D) whose 
E) whom 

 
28.  

A) surpassing 
B) preoccupying 
C) compensating 
D) accomplishing 
E) corresponding 

 
29.  

A) off 
B) at 
C) into 
D) of 
E) with 
 

30.  
A) used to secure 
B) had to be secured  
C) would have secured 
D) must have secured 
E) have secured 
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31. – 41. sorularda, verilen cümleyi uygun 
şekilde tamamlayan ifadeyi bulunuz. 

 
31. ---- but a concentrated salt solution made 

with natural salt is good for your body. 
 
A) We have long been told that salt can be 

detrimental to our health 
 

B) The average American today consumes 
about 10 grams of salt per day 
 

C) Problems with salt consumption appeared 
with the use of refined table salt 
 

D) Natural salt provides a number of nutrients 
very useful for the human body 
 

E) Naturally-mined salt has played a big part in 
the development of early civilizations 

 
 

32. ----, such as a punch that causes bleeding 
within the eye. 
 
A) Irregular iris colouring can also be caused 

by an injury to the eye 
 

B) Eye colour is a manifestation of the pigment 
that is present in the iris  
 

C) Eye pigmentation abnormalities are not 
necessarily a sign of an underlying disease 
 

D) The instance of a person having two 
differently coloured eyes is pretty 
uncommon 
 

E) The colour of our hair and skin is mainly 
caused by the amount of melanin there 
 
 

33. While we may feel hot and cold throughout 
the day, ----. 
 
A) eating little and often helps keep blood 

sugar levels stable 
 

B) drinking lots of tea and coffee seems like a 
good idea when it is cold 
 

C) our core body temperature is always kept at 
about 37C 
 

D) we are more sensitive to temperature 
changes when tired 
 

E) one is advised to wear suitably enough for 
such bad weather 
 

34. ---- in order to give consumers information 
about the food's freshness.  

 
A) When it comes to eating food that is expired 

according to its label 
 

B) There are plenty of things that are safe long 
after their sell-by dates 
 

C) Food products are actually labelled with 
expiration dates 
 

D) Most people don't understand expiration 
dates or what they really mean 
 

E) Most foods don't become unhealthy to eat 
when they've reached their sell-by dates 
 

 
 
 
 

35. In people, ----, it will never grow back. 
 
A) when hair cells are seriously damaged 

 
B) since excessive hair loss can be scary for 

some 
 

C) though some of us shed more hairs than 
normal 
 

D) as your body will shed significantly more hairs 
with each day 
 

E) once a hair cell has died 
 
 
 
 
 
 

36. Even though people associate crying with 
sadness, ----. 
 
A) some believe that tears convey 

helplessness and powerlessness 
 

B) we can also cry after a joyful or thrilling 
experience 
 

C) nobody would have cried after such a 
merciless person at all 
 

D) crying with a friend after a tough break-up 
might make you feel worse 
 

E) some of the couples who divorce may 
remarry after some time 
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37. According to a new study, ----, her pain will 
probably be more intense than a man's. 
 
A) when a woman has fallen ill 

 
B) unless a man goes down with the flu 

 
C) which were carried out on female subjects 

 
D) even if a pregnant woman suffered a lot of 

pain 
 

E) as long as the husband gives enough 
support to the wife 
 
 
 
 
 
 

38. Ancient people believed that ----, he or she 
could return as a ghost to haunt the living. 
 
A) only if an evil spirit entered the body of the 

dead person 
 

B) not until the dead had been soothed with 
enough blood 
 

C) once the grave has been closed properly 
enough 
 

D) if a person was not buried properly 
 

E) not only were the bodies of enemies buried 
secretly 
 
 
 
 
 

39. One great advantage about using human 
subjects in behavioural studies is ----. 
 
A) that they can report back to you about how 

they feel 
 

B) whether they can give the scientist the 
necessary data or not 
 

C) because not sufficient scientific data can be 
provided with this method 
 

D) how else they can be convinced of the 
sincerity of the researchers 
 

E) unless a few more statistically significant 
results can be found 
 
 

40. ---- because they are generally far stronger 
physically than are women. 
 
A) Not all muscled men look as attractive as 

would be expected of them 
 

B) Some people believe that men shouldn’t 
compete against women in sport 
 

C) There is hardly any woman who won’t 
resent losing a game of chess to a man 
 

D) Males are prone to make several more 
mistakes in choosing the right spouse 
 

E) Nobody should ignore the fact that men and 
women are born equal 
 
 
 

41. ----, of which solar radiation is by far the 
most important. 
 
A) The fuel for the maintenance of animal life 

comes only from other living organisms or 
their remains 
 

B) Migratory habits of birds are thought to 
have evolved partly due to seasonal food 
shortages 
 

C) Closely related species living in the same 
area may exploit different parts of the 
environment 
 

D) Predatory animals may be solitary hunters, 
like the leopard, or they may be group 
hunters, like wolves     
 

E) All animal life depends on the existence of 
organisms that can use inorganic energy 
sources 
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42. – 47. sorularda, verilen İngilizce cümleye 
anlamca en yakın Türkçe cümleyi bulunuz. 

 
42. Recent studies have found that people who 

eat whole grains are more successful in 
controlling their weight. 
 
A) Son yapılan çalışmalar tam tahıl yiyen 

insanların, kilosunu kontrol etmede oldukça 
başarılı olduğunu göstermiştir. 
 

B) Son çalışmalar tam tahıl tüketen insanların, 
kilosunu kontrol etmede daha başarılı 
olduğunu ortaya koymuştur. 
 

C) Güncel çalışmalar tam tahıl yiyen bazı 
insanların, kilo kontrolünde nispeten daha 
başarılı olduğunu kanıtlamıştır. 
 

D) Son yapılan çalışmaların ortaya koyduğu 
şey, tahıl yiyenlerin kilo kontrolünde son 
derece başarılı olduklarıdır. 
 

E) Bazı çalışmalarda tam tahıl tüketenlerin 
kilosunu kontrol etmede daha başarılı 
oldukları bulunmuştur. 
 

 
 
 
 
 
 
 
 
 

43. We people are surrounded by gadgets and 
use them extensively in our daily life. 
 
A) Biz insanlar, alet edevatlar ile çevrelenmiş 

olup günlük hayatımızda onları yoğun 
olarak kullanıyoruz. 
 

B) İnsanlarımız dört bir tarafı alet edevatlar ile 
kuşatılmış yoğun bireyler haline gelmiştir.   
 

C) İnsanların günümüzde çok yoğun 
olmalarının bir nedeni de her tarafta yeni 
cihazların bulunmasıdır. 
 

D) Etrafı çeşitli cihazlarla çevrilmiş olan 
insanların günlük yaşamlarında çok yoğun 
oldukları inkâr edilemez. 
 

E) Biz insanlar, alet edevatlar ile çevrelenmiş 
durumdayız ve ne yazık ki, onları günlük 
yaşamda yoğun olarak kullanıyoruz.  
 
 

 

44. Not only is the wildlife affected by the 
pollution, humans also face a number of 
problems due to it. 
 
A) Vahşi yaşamın, hem kirlilik hem de insanlar 

yüzünden bazı sorunlarla karşılaştığı 
doğrudur.   
 

B) Kirlilik, sadece vahşi yaşam için değil 
insanlar için de çok sorunlara yol 
açmaktadır. 
 

C) Kirlilikten fazlaca etkilenen vahşi yaşam 
insanların neden olduğu bazı sorunlarla da 
başa çıkmak zorundadır. 
 

D) Vahşi yaşam kirlilik gibi, insanların neden 
olduğu birtakım sorunlarla karşı karşıyadır.     
 

E) Kirlilikten yalnızca vahşi yaşam etkilenmez; 
insanlar da onun yüzünden bazı sorunlarla 
karşılaşır. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

45. Languages have been spoken since the time 
when mankind first appeared on the face of 
Earth. 
 
A) Diller, insanlığın dünya üzerinde kendini 

gösterdiği ilk andan itibaren vardır. 
 

B) İnsanlar yeryüzünde ortaya çıktıktan hemen 
sonra dilleri konuşmaya başlamıştır. 
 

C) Diller, insanlığın yeryüzünde ilk ortaya 
çıktığı zamandan beridir konuşulmaktadır. 
 

D) Dillerin, insanlığın yeryüzünde görünmeye 
başladığı ilk zamanlarda ortaya çıktığına 
inanılmaktadır. 
 

E) İnsanların dünyada ilk ortaya çıkmaya 
başladığı zamanlarda dil konuştuğu iddia 
edilmektedir. 
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46. The Internet, the immense source of 
information that has grown in the past thirty 
years, is dominated by English.  
 
A) Son otuz yılda İngilizcenin kontrolüne giren 

internet engin bir bilgi kaynağı olarak 
görülmektedir. 
 

B) İngilizcenin hegemonyasından bir türlü 
kurtulamayan internet, son otuz yıldır 
muazzam bir şekilde gelişmektedir. 
 

C) Otuz yıldır büyük gelişme gösteren internet, 
İngilizce ağırlıklı muazzam bir başvuru 
kaynağıdır. 
 

D) Devasa bir bilgi kaynağı olan internet, son 
otuz yılda İngilizcenin hâkimiyetine girmiş 
olağanüstü bir bilgi havuzudur. 
 

E) Son otuz yılda gelişen devasa bilgi kaynağı 
internet, İngilizcenin hâkimiyeti altındadır.  
 
 

 
 
 
 
 
 
 
 

47. There are some differences between the 
language of men and that of women, but no 
education can wholly erase these 
differences.  
 
A) Erkekler ile kadınların dilleri arasında 

birtakım farklılıklar bulunmasına rağmen, 
hiçbir eğitim bu farklılıkları tamamen yok 
edemez. 
 

B) Erkekler ile kadınların dilleri arasında pek 
çok farklılıklar var ise de eğitim düzeyi bu 
farklılıkları giderecek gibi görünmüyor. 
 

C) Her ne kadar erkekler ile kadınların 
konuştukları diller arasında farklılıklar olsa 
da alınacak hiçbir eğitim bu farklılıkları 
gidermeye yetmeyecektir. 
 

D) Erkekler ile kadınların dilleri arasında bazı 
farklılıklar mevcuttur; ancak hiçbir eğitim bu 
farklılıkları tamamen ortadan kaldıramaz. 
 

E) Erkekler ile kadınların konuştukları diller 
arasında belli bazı farklılıklar var; ama 
hiçbir eğitim şekli bu farklılıkları bütünüyle 
ortadan kaldırmaya yetmez. 

 

48. – 53. sorularda, verilen Türkçe cümleye 
anlamca en yakın İngilizce cümleyi bulunuz. 

 
48. Çok sayıda çalışma cinsiyetin, öğrencilerin 

dili nasıl öğrendiği üzerinde önemli bir 
etkisinin olabileceğini göstermiştir. 
 
A) A good number of studies found that 

gender can have a significant impact upon 
how students learn a language. 
 

B) Some studies have revealed that gender 
seems to have an essential effect on how 
students learn languages. 
 

C) A large number of studies have found that 
gender may have an important effect on 
how language is learned by students. 
 

D) In a good number of studies, it has been 
reported that gender has a big effect on 
how students end up learning a second 
language. 
 

E) Gender is reported by many studies to have 
a huge impact on how students learn a 
language. 
 
 
 

 
49. Televizyonun sesi bütün bir gece uyumanıza 

engel olduğunda, ses kirliliğine 
dönüştüğüne inanılmaktadır. 
 
A) When the sound of the television keeps you 

from sleeping well during the night, we 
believe that it has become noise pollution. 
 

B) If the sound of the television prevents you 
from sleeping properly at night, it is usually 
believed to change into noise pollution. 
 

C) When the sound of the television keeps you 
from sleeping all night, it is assumed to 
have turned into noise pollution. 
 

D) The sound of the television, which keeps 
you from sleeping all night, may sometimes 
turn into noise pollution.  
 

E) Only when the sound of the television stops 
you from sleeping during the night, should it 
be regarded as noise pollution. 
 

 
 
 
 
 

  8 
 



 

50. Bir binanın taşıyıcı yapısını belli bir noktada 
kesip çıkartırsanız, binanın bu nokta 
üzerindeki kısmı aşağı çöker.  
   
A) As long as you remove the support 

structure of a building at a certain point, this 
section of the building will fall down. 
 

B) Unless you support the structure of a 
building at a certain point, the section of the 
building above this point will collapse. 
 

C) Only if you remove the support structure of 
a building at a given point, is the section of 
the building above this point likely to 
collapse. 
 

D) So that the section of the building above a 
certain point can fall down, you should 
remove the support structure of this 
building. 
 

E) If you remove the support structure of a 
building at a certain point, the section of the 
building above that point will collapse. 
 

 
 
 
 
 

51. Metastaz, kanser hücrelerinin başka 
yerlerde daha fazla tümöre neden olmak için 
kan dolaşımı yoluyla harekete geçtiği zaman 
oluşur.  
 
A) Only if cancer cells travel in the 

bloodstream in order to bring about more 
tumours, does metastasis occur. 
 

B) Metastasis occurs only when cancer cells 
travel in the bloodstream, causing even 
more tumours. 
 

C) What causes metastasis is the cancer cells 
travelling in the bloodstream, which results 
in tumours in other parts of the body. 
 

D) Metastasis occurs when cancer cells travel 
via the bloodstream to start more tumours 
elsewhere. 
 

E) When cancer cells that travel via the 
bloodstream cause tumours elsewhere, it is 
called metastasis.   

 
 
 

 
 

52. Yüzyıllardır İngilizce dili bir mıknatıs gibi 
olmuş ve başka birçok dilden kelimeyi içine 
almıştır. 
 
A) The English language has functioned like a 

magnet for many centuries, which has 
helped it attract words from many other 
languages. 
 

B) For the past few centuries, English has 
been working like a magnet in that it 
attracts new words from other languages. 
 

C) Over the centuries, the English language 
has borrowed a large number of new words 
from other languages due to its magnet-like 
nature. 
 

D) Over the centuries, the English language 
has been like a magnet, attracting words 
from numerous other languages. 
 

E) During the past few centuries, English has 
not only borrowed from but also lent words 
to other languages due to its magnet-like 
property. 
  

 
 
 

53. Göçmen işçiye olan talebi doğuran etkenler 
değişiklik gösterebiliyor olsa da, göçmen 
işçi kaynağının arkasında yatanlar sabit 
kalma eğilimindedir.  
 
A) While the factors that create the demand for 

migrant labour may vary, those behind the 
supply of migrant labour tend to be 
constant. 
 

B) The factors creating the demand for migrant 
labour can vary, but the ones behind the 
supply of migrant labour are constant. 
 

C) The factors which create the demand for 
migrant labour greatly change; however, 
those which are behind the supply of 
migrant labour never change. 
 

D) Not only the factors effective in the demand 
for migrant labour but also those behind the 
supply of migrant labour have a tendency to 
remain constant. 
 

E) Whether the factors causing the demand for 
migrant labour or the ones that are behind 
the supply of migrant labour, all such 
factors will vary one way or another. 
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54. – 59. sorularda, cümleler sırasıyla okunduğunda 
parçanın anlam bütünlüğünü bozan cümleyi bulunuz. 

 
54. (I) Tooth-coloured crowns can be selected as 

treatment for the same reasons as stainless 
steel crowns. (II) For example, they are 
recommended for treating severe decay or 
restoring a tooth with a fracture or 
developmental defect. (III) On the plus side, 
tooth-coloured crowns are natural looking and 
can provide an excellent cosmetic result for 
your child. (IV) Although there are several types 
of crowns, porcelain tooth-coloured crowns are 
by far the most preferred. (V) On the minus 
side, they are more expensive, may be less 
durable and may require longer treatment time 
for a child.  
 
A) I          B) II         C) III          D) IV          E) V 

 
 
 
 
55. (I) Through his analysis of Brownian motion, 

Albert Einstein provided conclusive evidence 
that atoms and molecules actually exist.         
(II)  One of science's greatest minds of all time, 
Albert Einstein was born on March 14 1879, at 
his family's home in Ulm, Germany. (III) He was 
not talkative in his childhood, and until the age 
of three, he didn’t talk much. (IV) He spent most 
of his teenage years in Munich, where his 
family had an electric equipment business.    
(V) As a teenager, he was more interested in 
nature and showed a high level of ability in 
mathematics and physics.  
 
A) I          B) II         C) III          D) IV          E) V 

 
 
 
 
56. (I) According to ancient Okinawan legend, 

Karate had its beginnings in India with a 
Buddhist monk named Daruma. (II) Tradition 
says that Daruma travelled across the 
Himalayan Mountains from India to China.     
(III) In fact, boxing is a combat sport where two 
people engage in a contest of strength.         
(IV) There he began teaching the other monks 
his philosophies of physical and mental 
conditioning. (V) Legend has it that his 
teachings included exercises for maintaining 
physical strength and self defense. 
 
A) I          B) II         C) III          D) IV          E) V 

 
 
 
 

57. (I) Aristotle is one of the two most important 
philosophers of the ancient world, and one of 
the most important of any time or place. (II) He 
was not Athenian, but he spent most of his life 
as a student and teacher of philosophy in 
Athens. (III) As the Macedonians came to 
dominate Greece, Aristotle returned to Athens 
and set up his own philosophical school where 
he taught from 335 until 323. (IV) Athens was 
then a town of only about six to ten thousand 
inhabitants, it contained forty churches, over 
eighty chapels, and eleven mosques. (V) What 
we have of Aristotle's writings are mostly 
lectures he gave at the Lyceum in these years.  

 
A) I          B) II         C) III          D) IV          E) V 

 
 
 
 
 
 
 
58. (I) Considering the fact that the Roman Empire 

existed for so long, it is no surprise that there 
are a lot of misconceptions about the Empire 
and its people. (II) One of these persistent 
misconceptions about the Romans is that they 
would feast until they were full, then visit a 
room called a vomitorium to “vomit” the food out 
so they could start over again. (III) But the real 
story is that they did love food and drink.       
(IV) However, this is a myth – the vomitoria 
were actually passages that enabled people to 
move quickly to and from their seats in an 
amphitheatre. (V) These vomitoria made it 
possible for thousands of Roman citizens to be 
seated within minutes.  

 
A) I          B) II         C) III          D) IV          E) V 

 
 
59. (I) Fats are nutrients in food that the body uses 

to build nerve tissue and hormones. (II) The 
body also uses fat as fuel. (III) If fats eaten 
aren't burned as energy or used as building 
blocks, they are stored by the body in fat cells. 
(IV) Therefore, getting enough fruit is essential 
for growth and development. (V) By saving fat 
for future use, the body plans for times when 
food might be scarce. 
 
A) I          B) II         C) III          D) IV          E) V 
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60.– 65. sorularda, boş bırakılan yere, parçanın anlam 
bütünlüğünü sağlamak için getirilebilecek cümleyi 
bulunuz. 

 
60. Ebola is not an airborne virus. Unlike some 

other viruses, the Ebola virus can only be 
spread by body fluids. ----. This kind of 
contact means that blood, secretions, 
organs or other body fluids containing the 
virus must come into contact with broken 
skin or the mucous membranes of a healthy 
individual in order for the virus to be 
transmitted. The fluids may come directly 
from the infected patient or from surfaces 
touched by the sick individual, such as 
bedding or clothing.  

 
A) therefore, it spreads with human-to-human 

transmission due to direct contact 
 

B) As this virus is transmitted to humans from 
animals, it is known as a zoonotic virus  
 

C) Ebola symptoms appear as early as two 
days after exposure 
 

D) The early symptoms of Ebola can closely 
imitate diseases like the flu 
 

E) Careful disposal of these protective 
materials is vital for infection prevention 
 
 

61. If you are spoiling your children, you’ll know 
it. They’re rude to you and other adults. ----. 
They will act bossy and demand to be first 
in line. They don’t answer your questions 
and ignore your instructions. If you deny 
them a new toy or treat, you’ll face a 
tempest of crying, howling, and little fists 
pounding the floor. 
 
A) When spoiled kids become teenagers, they 

may suffer more from depression 
 

B) On the contrary, spoiled kids push their 
boundaries, sometimes to disastrous ends 
 

C) Therefore, these children are more 
successful in making genuine friends 
 

D) Instead, children need to be able to 
understand what others might be feeling 
 

E) Also, they will not share with other children 
 
 
 
 
 

62. ----. Indeed, the immortal equation’s fame is 
based largely on that simplicity: the energy E 
of a system is equal to its mass m multiplied 
by c2, the speed of light squared. The 
equation’s message is that the mass of a 
system measures its energy content. Yet E = 
mc2 tells us something even more 
fundamental. If we think of c, the speed of 
light, as one light year per year, the 
conversion factor c2 equals 1. That leaves us 
with E = m. Energy and mass are the same.  
 
A) E = mc2 was first published in 1905, but 

didn't have a cause until the 1930s 
 

B) Einstein is regarded as the most 
outstanding figures of this century 
 

C) No equation is more famous than E = mc2, 
and few are simpler 
 

D) Einstein is believed by some to be the most 
intelligent person ever born on Earth  
 

E) Conversion of mass to energy is the principle 
behind nuclear weapons 

 
 
 
 
 
 
 

63. ----. They are also two of the most easily 
prevented diseases. Tooth decay starts with 
the erosion of your tooth enamel and leads 
to holes in your teeth, called cavities. 
However, if left untreated, these cavities 
worsen and the entire tooth becomes 
endangered. 
 
A) The good news is that you can prevent tooth 

decay with simple, easy and affordable 
steps 
 

B) Tooth decay and gum disease are the most 
common dental diseases among children 
and adults 
 

C) Older women have an additional reason to 
practice good oral hygiene 
 

D) Tooth loss can certainly have a big impact 
on your self-confidence 
 

E) Plaque builds up in the small spots between 
teeth and around your gum line 
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64. One of the most common misconceptions 
about the Romans is that when they 
conquered Carthage, they salted the 
farmlands to prevent anything from 
growing. In fact, this is a 20th century myth, 
which has no bearing in reality. When the 
Romans conquered Carthage, they went 
from house to house capturing slaves and 
slaughtering the rest. ----. This resulted in 
the loss of a great deal of historical 
information on Carthage, which makes the 
study of it difficult in modern times.  
 
A) These were a series of three wars fought 

between Rome and Carthage  
 

B) There was a grudge between Carthage and 
Rome since they conquered whole Italy 
 

C) They never fought enough battles or wars 
in order to expand and protect their empire 
 

D) The famous moment in this war was when 
Caesar crossed the Rubicon River 
 

E) They burned the city to the ground and left 
it as a pile of ruins 
 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

65. People who are very sceptical tend to look at 
the historical record. It’s true that the 
economy has always adapted over time. ----.  
A classic example of this is agriculture. In the 
1800s, 80 percent of the U.S. labour force 
worked on farms. Today it’s 2 percent. 
Obviously mechanization didn’t destroy the 
economy; it made it better off. Food is now 
really cheap compared to what it was relative 
to income. 
 
A) Information technology is totally different 

 
B) It’s a broad-based general purpose 

technology 
 

C) It has created new kinds of jobs 
 

D) There isn’t a new place for all these workers 
to move 
 

E) People have now more money to spend on 
other things 
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66. –68. soruları aşağıdaki parçaya göre 
cevaplayınız. 

 
The first civilization in Mesoamerica is known to 
have developed in about 1200 BC in the coastal 
regions of the southern part of the Gulf of Mexico. 
Known as the Olmec civilization, its early site is at 
San Lorenzo, which was a very important centre of 
Olmec commerce, religion and political power. 
However, this city of the Olmecs moves further east 
along the Gulf coast to La Venta, an island site in 
the Tonala River. For the next five centuries, La 
Venta was the cultural centre of a large region, 
trading with much of Central America. The Olmec 
traditions of sculpture and of temple architecture, 
developed over eight centuries, greatly influenced all 
the subsequent civilizations of the region. The most 
characteristic sculptures of San Lorenzo and La 
Venta are astonishing creations. They are massive 
stone heads, more than two metres in height, of 
square-jawed and fat-lipped warriors, usually 
wearing helmets with ear flaps. The way in which 
these images were created remained typical of 
much of the religious arts of Central America.  

 
 
 
 
 
 
 
 
 
 
 
 
 

66. The Olmec civilization ----. 
 
A) was a mixture of so many different cultures     

 
B) was a complex society that followed the 

Aztecs 
 

C) is understood to have affected other 
civilizations  
 

D) must have disappeared sometime before 
1200 B.C  
 

E) seems to have been greatly affected by 
other cultures 
 
 
 
 
 

67. It can be inferred from the passage that ----. 
 
A) sculpture and temple architecture in the 

Olmec civilization lasted for a short time 
 

B) few signs exist today about the Olmecs, so 
we know almost nothing about them 
 

C) the exact birth date of the Olmecs still 
remains a matter of discussion 
 

D) the Olmecs believed in one single God 
 

E) the sculptures made by the Olmecs were 
not different from those in Central America  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

68. One point made in the passage is that the 
civilization of Olmec ----. 
 
A) was very sensitive about religious figures   

 
B) were the first Mesoamericans to produce 

small cities, like San Lorenzo and La Venta 
 

C) was born in San Lorenzo 
 

D) preferred to make settlements near water 
due to their love for agriculture 
 

E) vanished as a result of long-lasting wars 
with hostile neighbouring cultures  
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69. –71. soruları aşağıdaki parçaya göre 
cevaplayınız. 

 
Aardvarks are mammals that look as if they were 
made from parts of other animals. They have a long 
pig-like nose, rabbit-like ears and a tail similar to a 
kangaroo's. Yet it is not closely related to any of 
those animals. They are found only in sub-Saharan 
Africa. Their name comes from South Africa’s 
Afrikaans language and means Earth Pig. Though 
they are technically considered as “ant eaters”, they 
are a separate species from anteaters, which are 
found in South America. They sleep during the day 
and are awake during the night. During the day, 
they burrow down deep beneath the hot African 
temperature. Their feet and claws are used for 
digging the hole and also getting a hold of their 
favourite food ‘termites’. During the night, they 
would travel long periods of time searching through 
the woods and forest in search of a large termite 
mound. Their claws allow them to break the hard 
shell of the mound, and then they use their long 
sticky tongue to collect the termites.  
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

69. One can understand from the passage that 
aardvarks ----. 
 
A) are nocturnal mammals that are native to 

sub-Saharan Africa  
 

B) tend to avoid rocky terrain because rocks 
are difficult to take shelter in  
 

C) are primarily solitary animals that come 
together only during the mating season 
 

D) are vital to the farmers in controlling the 
huge number of termites 
 

E) can dig long burrows in the ground 
incredibly quickly 

 
 

70. It is clear from the passage that ----. 
 

A) aardvarks can easily find food thanks to 
their excellent sense of smell  
 

B) aardvarks dig under the ground to stay out 
of the heat during the day 
 

C) aardvarks feed almost exclusively on ants 
and termites 
 

D) anteaters native to South America are quite 
similar to aardvarks found in Africa 
 

E) aardvarks use their sharp claws and strong 
feet when defending themselves 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

71. The passage is mainly concerned with ----. 
 
A) why aardvarks are considered creatures 

from another planet 
 

B) when female aardvarks give birth to their 
first offspring 
 

C) the reason why aardvarks are found only in 
sub-Saharan Africa 
 

D) how aardvarks adapt to their surrounding 
environment 
 

E) what aardvarks look like and their way of 
finding their favourite food 
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72. –74. soruları aşağıdaki parçaya göre 
cevaplayınız. 

 
The great benefits of vitamin E have been known 
for years, and the vitamin’s contribution to all 
around health is constantly being studied. Among 
the benefits of Vitamin E are their powerful 
antioxidant properties. Antioxidants are essential in 
neutralizing free radicals that accelerate the decay 
of cell tissue and cause aging along with a number 
of other health problems. Vitamin E is also essential 
for a healthy circulatory system and promotes 
healthy blood clotting and wound healing. Women 
can gain the benefits of Vitamin E, since it has been 
shown to reduce the symptoms of breast disorders. 
In addition, the risk of coronary disease is reduced 
by taking Vitamin E and it has been shown to slow 
down the development of atherosclerosis. Among 
the benefits of Vitamin E for the elderly is its role in 
preventing Alzheimer’s disease. Since it is fat-
soluble, one must be careful not to exceed 
recommended doses. The benefits of Vitamin E can 
only be useful if one avoids an overdose, which can 
cause health problems. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
72. It can be understood from the passage that 

vitamin E ----. 
 
A) has a positive effect on the circulatory 

system and helps with healthy clotting 
 

B) is fat-soluble, so one is recommended to 
consume as much of it as possible 
 

C) needs further studies to determine whether 
it can positively affect  Alzheimer’s disease  
 

D) helps prevent the formation of almost all 
cancer-causing chemicals 
 

E) is far more effective and safer to use than 
many other vitamins 
 
 

73. From the information given in the passage, 
we learn that ----. 
 
A) there are many health claims for vitamin E, 

some of which are still being investigated 
 

B) most people are unaware of the dangers of 
not getting enough of vitamin E 
 

C) recent scientific studies have proved how 
necessary vitamin E is for coronary disease 
 

D) vitamin E is actually not as necessary for a 
healthy body as it is claimed to be  
 

E) the risk of coronary disease increases with 
the intake of Vitamin E 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

74. It can be inferred from the passage that ----. 
 
A) vitamin E helps prevent the body’s cells 

from getting damaged by free radicals  
 

B) vitamin E needs to be taken in huge 
amounts by the elderly 
 

C) vitamin E is more effective in females than 
males when taken properly 
 

D) when taken in excessive doses, vitamin E 
may be life-saving for the old 
 

E) atherosclerosis can only be prevented by 
Vitamin E 
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75. –77. soruları aşağıdaki parçaya göre 
cevaplayınız. 

 
People first spoke languages to meet their basic 
needs through communication and then express 
themselves. They even found a system called 
writing to be able to pass on their experiences to 
the following generations. In different parts of the 
world, different people spoke different languages, 
and for centuries they did not need to learn other 
people’s languages as they lived, more or less, in 
enclosed communities. Only a few people learned 
other people’s languages and as for commoners 
there was no way of learning a second language, if 
it was not a neighbouring community’s language. 
However, as the time passed, communities started 
to interact more and more and the need for other 
languages increased. With the introduction of more 
advanced transportation means, it was accelerated 
even more, but it was not until the beginning of 
modern times that the knowledge of foreign 
languages became indispensable. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

75. We learn from the passage that ----. 
 
A) it took a very long time for people to 

develop the concept of learning the 
language of others     
 

B) people never lived in covered societies until 
recent times 
 

C) people have always been interested in the 
language of their neighbouring countries 
 

D) the number of the languages spoken across 
the world has risen dramatically 
 

E) only a few languages have died out ever 
since humans began speaking them   
 
 
 

76. What caused the need for learning other 
languages is reported in the text to be ----. 

 
A) the oppression by their rulers     

 
B) the need for intermarriages 

 
C) the invasions by neighbouring countries 

 
D) the need for basic needs 

 
E) their interaction with other communities 

    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

77. What could be the best title for the 
passage? 

 
A) Why people felt the need for learning 

foreign languages from very early times 
 

B) How people came to take interest in 
learning the language of others 
 

C) Different reasons why people abandoned 
the hunting and gathering lifestyle 
 

D) A curious relationship between the history 
of man and languages    
 

E) The history of how humans happened to 
speak language 
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78. –80. soruları aşağıdaki parçaya göre 
cevaplayınız. 

 
There is a good reason why dentists advise patients 
to stay away from sugary treats. Cavities are 
created when bacteria in your mouth interact with 
refined sugars and fermentable carbohydrates such 
as the ones found in soda and sweets. This mixing 
of sugars and bacteria promotes acid production. 
According to the Dental Health Foundation, acid 
promotes demineralization, or the loss of protective 
calcium and phosphate in your teeth's enamel. 
Cavities may then form through weakened enamel 
and exposed dentin, and your teeth may even chip 
or crack. Cavities can also occur if the root of your 
tooth has been exposed due to receding gums, or if 
you have dry mouth, a condition in which you have 
less acid-neutralizing saliva guarding your teeth. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

78. We can understand from the passage that    
----. 

 
A) acid-neutralizing saliva harms your teeth 

 
B) cavities are not caused by a single factor 

 
C) calcium is less protective for teeth than is 

phosphate    
 

D) receding gums cannot be treated at all 
 

E) a dry mouth occurs only because of cavities 
 
 
 
 
 
 
 
 
 
 
 

79. We can infer from the passage that ----. 
 

A) calcium and phosphate are vital to a 
healthy tooth 
 

B) calcium is more important than phosphate 
as far as tooth enamel is concerned  
 

C) cavities cause the root of your teeth to be 
exposed 
 

D) saliva is dangerous for your teeth 
 

E) demineralization is responsible for the 
interaction between sugars and 
carbohydrates   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

80. The writer seems to find ----. 
 

A) soda and sweets very useful for our teeth 
 

B) Dental Health Foundation a useless one 
 

C) eating too much food dangerous for teeth 
 

D) dentists right in telling their patients to avoid 
sugary food   
 

E) some dental treatments very meaningless  
 

 
 
 
 
 

TEST BİTTİ. 
 

CEVAPLARINIZI KONTROL EDİNİZ. 
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